Subject: Re: Very basic IDL vector question
Posted by kubota on Tue, 03 May 2016 12:08:08 GMT

View Forum Message <> Reply to Message

Hi Helder, you've made the two possible answers for fc (scalar or vector) very clear by your two
examples. Thank you.

Continuing on, if the two function calls were, for some reason, called in reverse order, with the
testDouble call done first, then fc will become an array with values, 0, 2, 4,.. 18.

If we then call testTotal with the same xc values (0 to 9), how does fc deal with the scalar result
given that it is (currently) an array? Does fc change from an array to a scalar, with the result 4572 If
so, | presume all the previous (0,2,4, .. 18) 10 array values are lost at that moment?

Thanks again.
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